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e & forv wm= fAcer:
GENERAL INSTRUCTIONS TO THE EXAMINEES:

1. RIefTef FdUeM ST UEUA R AMIG Iffarid: ford |

Candidate must write first-his / her Roll No. on the question paper compulsorily.
2. A UeT B SR € |

All the questions are compulsory.

3. g% e H IR &l T3 SR GRAdT H & ford |

Write the answer to each question in the given answer-book only.

4. RO el # oaRe @ve €, 99 9l & IR Udh 1T & ford |
For questions having more than one part, the answers to those parts are to be written together in
continuity.

5, ged 95 & @l 9 3l ®UiaR # fhdl yeRr @1 e /far /R 8 R 2= 91T & U=
BT B FE 9 |

If there is any error / difference / contradiction in Hindi and English versions of the question paper,
the question of Hindi version should be treated valid.

6. s g3 AT 3 UIH e
3 1—10 1
q 11—15 2
q 16—25 3
Q 26—30 6
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Part Question Nos. Marks Per Question
A 1-10 1
B 11-15 2
C 16 - 25 3
D 26 - 30 6

7. U BHID 27 G 30 § RSP fdhod T |
There are internal choices in Q.No.27 and 30.

8. 3T TR YRADT & goi & Ml AR fARgy | T BIS % BRI BT 8l, Al IR —gRAIDT &
3ifer gl TR A 3R § foRYT orgHl | ®eax S9 W G B forg < |

Write on both sides of the pages of your answer-book. If any rough work is to be done, do it
on last pages of the answer-book and cross with slant lines and write 'Rough Work’ on
them.

9. U GHIBG 26 B QT ITH UUR UR §41847 |

Draw the graph of Question No.26 on graph paper.

Yls — 3
Part —A
U 1. IS YUFETS Ay gRT Yulies 375 3R 675 BT HCF Sild difory |
Find the HCF of integers 375 and 675 by the prime factorisation method.

T2 AP. 17,12, T o H 1197 UGS BT |
Find 11" term of the A.P. =17, =12, -7 coiis i

9. 3. 3Ife COSA=% dT cot A T AT URIoId BHIfTT |

If cos A = % , then calculate cot A.

9. 4. Bmifadr eeud —
tan A P sec AD Uai # faIRay |

Express the trigonometric ratio tan A in terms of sec A.

U. 5. G GARY RSl & &A%l BT U 16:81 © Al SAD! YoTdll BT AU AT DI |
The area of two similar triangles are in ratio 16:81. Find the ratio of its sides.

7.6 < T MG H O T g9 @1 a2 e ey g Q ¥ 99 w1 wef 3@ QP 3R QR
i T €| BT POR &1 A ST BIRT |
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In the given figure, O is the center of a circle and two tangents QP and QR are drawn on the circle
from a point Q lying outside the circle. Find the value of angle POR.

p
) (—q
R
U7 5 Q4L A 96l g9 @ s A 9 T R I A5 W g9 R fhae wRl iy Al S e
2 |
How many tangents can be drawn on the circle of radius 5 cm form a point lying outside the circle at
distance 9 cm from the center.
¥. 8. S g B a1 S HING RradT &5he 616 a7 A L 2 |
Find the radius of that circle whose area is 616 cm?.
U9 IR UP g & AHFI@US BT BIvT 250° © A1 TR WUS BT IV AT DI |
If the angle of major sector of a circle is 250°.-Then find the angle of minor sector.
9. 10. TP fHa® B Udh JR SO ST 8 | 59D Uc Tel -3+ D] IS S B |
A coin is tossed once: Find the probability that it is not a tail.
YUs — ¢
Part—B
-7
U 11. IfQ q1 (g A(-2,5)3R B(-5,y) @1 70 fag (73)?5 drfdvg AB @ #&9 g0 &d
HIFSTY |
-7
If the middle point of two points/A(-2, 5) and B(-5, y) is (7,3), then find the distance between
points A and B.
U. 12. U I 3Tl BT Tl TSR &Fhel 462 I3 W1 & | S9! T S1d difoiy |
The to_tal surface area of a soIi_d hemisphere is 462 cmz._ Find its radius.
9. 13. U 9 P o0 & 25 GRARI &1 wfafes &g /4 qRaRar g gy far 1 2 |
gfafed g (w9t ) 2535 35—45 4555 55—65 65—75
GRIRI DI FEAT 3 7 6 6 3
ggel fafyy gRT aRaRl &1 Ard =g =1 DI |
Per day expenses of 25 families of the frequency distribution of a Dhani of a village is given as
follows.
Per day expense (In Rs.) 25-35 35-45 45-55 55-65 65-75
Number of families 3 7 6 6 3
Find the mean expense of families by Direct Method.
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T 14. U WY T 8 Hex &9 Ul R A 7 & fog CCTV &R o 21 off oA & 3 9 17
AleR R e 1 9 IR @ Fohdl & | Ul & IRl AR I8 DRI b1 &Abel AT
T Al B°
For traffic control, a CCTV camera is fixed on a 8m straight pole. The camera can see 17m
distance sight line from the top. Find the area visible by the camera around the pole?

9. 15. Ud Al SR AWM ¥ B @I d& 175 & & 70 & /gver 98  fa & 99 10 & Jraramd
el @I IR &Rl 2| 9N IARIIG & BRUT I8 GO R R Ud e, g a3
e, R Rvder R 5 e v ¥ eR cad Rida W) 19 fAFe Sl © | I B d@
Uge H ¥ el fhad WHI ST | SuYh MO A | g B |
A Motor car travels 175 km distance from a place A to place B, at a uniform speed 70km/hr passes
though all ten green traffic signals. Due to heavy traffic it stops for one minute at first signal, 3
minutes at second signal, 5 minutes at third signal and so on stops for 19 minutes at tenth signal.
How much total time it takes to reach at the place B. Solve by suitable mathematical method.

Yls — 4
Part—C

u. 16. Rig HINTT 6 U Ry w2 |
Prove that \/gis an irrational number.

U 17. fgad 98U x> +x -2 @ A G DIGIT IR IHT AT JUTG] & §ra & Hae B Feadm dl
ST BT |
Find the zeroes of the quadratic polynomial x* + x =2, and verify the relationship between the
zeroes and coefficients. _

9. 18. 99 A. P. @ UUH 15 UG B AT ST Difog, OIS UTddT iR Fdf U HHel: 26 3R 42 T |
Find the sum of first 15 terms of an A.P. whose 5" and 9" terms are 26 and 42 respectively.

9. 19. Th AFR @ UI€ ¥ Udh 99 & RRER BT I~ BT 30° 8 3R 99 & UIg o ¥R & ¥R
BT I~IT P 60° 2| Ife AR B FaTs 48 HexX 2 dF a7 BT Sals S1d BT |
The angle of elevation of the top of a building from the foot of the tower is 30° and the angle of
elevation of the top of the tower from the foot of the building is 60°. If the tower is 48 meters high,
find the height of the building.

¥.20. & IS BT H O Th g BT b= © fordsd d1ed fdwg CH g W &l W &N CA, CB Iiel
T$ ©, a1 g $IY LAOBY LACBHERS ¢ |
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In the given figure, O is the center of a circle and two tangents CA, CB are drawn on the circle from
a point C lying outside the circle. Prove that ZAOBand £ZACB are supplementary.

9. 21. 4cm, 5¢cm 3R 7cm YSIRIT Tl T ST @1 o1 ST IR R T =1 et @1 =1 SR,
. . . 3 .
forFaT Yoird faw gu ryst &1 i gorall & 3 T B |
Construct a triangle with sides 4cm, 5cm _and 7cm and then another triangle whose sides are % of
the corresponding sides of the first triangle.

U.22. QP g P A1 dra O 45° P BV IRING Pl © | Iia g9 o BFru@vs &1 e3%d 77cm’
2, A g &I 1 = S |
If an arc of a circle subtends an angle of 45° at the centre and if the area of minor sector is 77cm?
then find the radius of the circle.

9. 23. U el & g9 @l faae 8emx 9emx 1 lem, &1 fUErdR G 5591 & A1d Tiel 9919 1Y
21 TP A B Tl DI Bodr S BTy |
Seven spheres of equal radii are made by melting a silver-cuboid of dimensions 8cmx9cmx11cm.
Find the radius of a silver sphere.

. 24. ffoRaa ARl v wahel @ ®em X @ 50 faenfial & 1 & ura sidi o7 <ol 2|
EINICCED

20—30 30—40 | 4050 50—60 60—70 70—80

fqenfefai o A 5 9 8 12 13 3
HIEGD 3h ST DI |
The following table shows the marks obtained by 50 students in mathematics of class X in a school.

Obtained Marks

20-30 30-40 40-50 50-60 60-70 70-80

Number of students 5 9 8 12 13 3

Find the median marks.

9. 25 UH OO @ # 1 5. @ A Riad, 2 5. @ 25 Ridd, 5 ©. @ 15 1D 3R 10 ©. & 9 Rdd 2 |
afg I & o1 Retax Soel H1 R DIE Th NadT R @ aRom a9wfie €, sqa! o
uiiieer © b a8 fRT gan Ryap—

(i) 2 5. BT BATT? (i) 5 %. BT &I BN?
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A piggy bank contains hundred coins of Rs. 1, twenty five coins of Rs. 2, fifteen coins of Rs. 5 and
ten coins of Rs. 10. If it is equally likely that one coin will fall, when the bank is turned upside down,
what is the probability that the coin -

(i) Will be a Rs. 2 coin? (ii) Will not be a Rs. 5 coin?
Yls — g
Part—D

U, 26. 2 W GRAPT 3R 3 Ul BT Hof Jod 17 JUY B, Sdid 3 AT YRADBT 3R 4 Uf~Fali o1
HA I 24 JUY T | 5 AT DI IISIIORINY w0 H Fad PR % (I A 5 DI |
The cost of 2 exercise books and 3 pencils is Rs.17 and the cost of 3 exercise books and 4 pencils
is Rs. 24. Formulate the problem algebrically and solve it graphically.

¥. 27. Udh JIATGR Wd & JHol Iqa BIET qoil & 40 . Afde o1 2| Ife 91 Yol BIET ol |
20 1. 3% B 1 WA B YoIY AT B |

The diagonal of a rectangular field is-40 meters more than the shorter side. If longer side is 20
meters more than the shorter side, find the sides of the field:

JArqrT

Or

g. 27. 17 HIcx AN dTcl U gATBR Ui & IR & U f07g IR TP ¥ 9 ISR TS & & 9
UTh b UP AT B Sl A (gl W 9 Bedl A SR B ¥ T Bl §RAT BT 3R 7 HIeX 8|
AT AT HIAT F9G 57 IfS 8 Al a1 Bicdl A-fhd-l gRAl IR @¥T e 27

A Pole has to be erected at a point on the boundary of a circular park of diameter 17 meters in such
a way that the differences of its distances from two diametrically opposite fixed gates A and B on the
boundary is 7 meters. Is it possible to do so? If yes, at what distances from the two gates should the
pole be erected?

g.28. () I Cos3A =Sin(A-34°)8I, ST&l A & A BV & I A &I A A DI |
(i) fFr=faRaa gaate g HIY, SE1 T S, 96 fog @se aRafa 28, =T @i © |

1+tan’A - 1-tan A

1+cot’A (l—cot A)2
(i) If Cos3A =Sin(A -34°), where A is an acute angle, find the value of A.

(ii) Prove the following identity, where the angles involved are acute angles for which the
expression is define.

1+cot’A (l—cot A)2
1+tan’A 1-tan A
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U. 29. 39 ol &1 % sa B fga o (=5, 7), (4, 5) 3R (—4, —5) T

Find the area of that triangle whose vertices are (-5, 7), (4, 5) and (-4, -5).

. 30. & S MG H ABC Wﬁﬂa%|ﬁ%=i—g,aﬁﬁ@aﬁﬁnm|mc
A

[\

B C

In the given figure ABC is a triangle. If i = E then prove that DE || BC
AB AC

A

YUs—<

B C

AIqT

Or

U. 30. o agysl PQRS & &0l weR Ofdg R 39 ¥R Ufaes &xd © (& g—g=¥§l ENIFY
f% PQRS U® HATH T |

The diagonals of a quadrilateral PQRS intersect each other at the point O such that E = %
Show that PQRS is a trapezium.
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